JOLICO J=-B T OQOILy | oo

CAM COUPLING PLATE AND COUPLING NUT

L FOR (X) SOC. HD. SCR.
‘ ”J (TYP.) / (4)HOLES

J(TYP.) I I
f | — + —] |
I I E
| |
- I I L
I I
| F |
T
R RN f
T A
] ] i
- H
D

COUPLING PLATE

JOLICO CHRYSLER
NUMBER | ccnumeer | A|P|E| FIHI J| X [ K

J-779620 | 19-010-2360| 25|38 | 50 |80 [15|11.5 | M10 |28
J-779621 | 19-010-2365| 32 |50 [ 55 (100 (20 |12.5 | M12 | 40
J-779622 | 19-010-2370| 40 |60 [ 65 {120 (24 |16.0 | M16 | 50
J-779623 | 19-010-2375| 45|80 [100(150 (19 |18.0 | M20 | 66

M10 CONE POINT SET SCREW WRENCH FLAT

aC @B
\A TAP —|G |—
E
COUPLING NUT
USE WITH
CYLINDER JOLICO CHRYSLER
COUPLING
BORE SIZE | NUMBER CC NUMBER A TAP B C F G H PLATE
32 J-779630 | 19-010-2305 | M10X 1.25 35 130 |16 | 10 | 24 | J-779620
40 J-779631 | 19-010-2310 | M12 X 1.25
50-63 J-779632 | 19-010-2315 [ M16 X 1.5 a7 | a2 | 19 | 14 | 36 | J- 779621
80-100 J-779633 | 19-010-2320 [ M20X 1.5
125 J-779634 | 19-010-2325 | M27 X 2.0 57 | 52 | 24| 19 | 46 J- 779622
160-200 J-779635 | 19-010-2330 | M36X2.0
250 J-779636 | 19-010-2335 [M42X2.0 | 76 | 64 | 50| 19| 60 | J-779623

PHONE (586) 739-5555 02-1998 CF-7



